GES  YEAR 9 HISTORY
	TOPIC: Why did a peace agreement have to be reached by 1919?



	Theme: Identify and explain how the modern world changed due to various conflicts
	Level: Year 9
Term 3

	Objectives: To evaluate the changes that occurred in the modern world that led from the start of WW1 to the Treaty of Versailles



	Focussing Questions
	Key Words

	1)How did countries try to avoid more wars?
Who were the Big Three and how did they deal with the defeated countries?
What was the League of Nations and was it a success?
How far was the Treaty of Versailles fair towards Germany?



        2)   Revision
                   Joining Up for WW1
                   Recruitment posters
                   Fighting in Europe during WW1
                   Life in a Trench
                   Home Front and DORA

     

Assessment
	Cause
Patriotism
Pal`s Battalion
Propaganda
Conscription
No Man`s Land
Western Front
Stalemate
Trench Foot
Shrapnel
Shell
Shell Shock
Conscientious Objector
Cowardice
Empire 
Colony
Home Front
Civilian
Treaty

	Explaining words

...so...


..because...


Therefore...


As a result...


This means that...


Therefore...


This caused...


...Due to the fact...


...caused…

However
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